942 Q1 Hw#5   Comparing Nested & Non-nested Models   data ( 942_q1h5_152.sav
The criterion variable is GGPG, with the predictors GREQ, GREV, GREA, averate (ratings taken from letters of recommendation, upub (whether on not they published while an undergraduate) and UGPA.   This set of predictors naturally divides into two groups of predictors:  GRE scores vs. averate, upub & UGPA.  

This leads to three models:
1. a full model including GREQ, GREV, GREA, averate, upub & UGPA

2. a reduced model including GREQ, GREV & GREA  -- GRE model
3. a reduced mode including averate, upub & UGPA  -- UGRAD model
So, there are three model comparisons:

1. Comparing the full model with the GREQ, GREA & GREV model ( comparing nested models

2. Comparing the full model with the averate, upub & UGPA model ( comparing nested models

3. Comparing the GRE model with the model including averate, upub & UGPA model ( comparing non-nested models

Please note:  To simplify this homework we will obtain and write up just each of the models and their comparison.  Please remember, that a complete write-up of these analyses would also involve the following:\

1. presentation of the univariate stats on the criterion and each predictor

2. presentation and discussion of the simple correlations of each predictor with the criterion
3. along with the presentation of each multiple regression model and the interpretation of the regression weights, the difference between the bivariate and multivariate stories involving those predictors would be discussed (collinearity, suppressors, etc.)

4. a discussion of the differing contribution of specific predictors to different models

5. perhaps description and testing of additional models, working toward a “final model” for interpretation or application (be careful here!)

1. Get and interpret the full model.  Fill in the following

 R ____________  R² _____________ F ___________   df _____, ________  p ________    N ________

	Predictor
	b
	Β
	p-value
	Does the predictor contribute?

	greq


	
	
	
	

	grev


	
	
	
	

	grea


	
	
	
	

	averate


	
	
	
	

	ugpa


	
	
	
	

	pub


	
	
	
	

	constant


	
	
	
	


2. Get the GRE model.  Fill in the following

 R ____________  R² _____________ F ___________   df _____, ________  p ________    N ________

	Predictor
	b
	β
	p-value
	Does the predictor contribute?

	greq


	
	
	
	

	grev


	
	
	
	

	grea


	
	
	
	

	constant


	
	
	
	


3. Get the UGRAD model.  Fill in the following

R ____________  R² _____________ F ___________   df _____, ________  p ________    N ________

	Predictor
	b
	β
	p-value
	Does the predictor contribute?

	averate


	
	
	
	

	ugpa


	
	
	
	

	pub


	
	
	
	

	constant


	
	
	
	


4. Compare the Full model and the GRE model – twice, once using SPSS and once using the FZT program
Using SPSS – enter the full model and remove the non-GRE predictors (the convention is to report the R²Δ as positive)

R² Δ _____________  FΔ ________  df ___ , ________    p _________    Conclusion?
Using FZT (the convention is to report the R²Δ as positive)


R² Δ _____________  FΔ ________  df ___ , ________    p _________    Conclusion?

5. Compare the Full model and the UGRAD model – twice, once using SPSS and once using the FZT program

Using SPSS – enter averate, upub & UGPA and then enter the GRE predictors (the convention is to report the R²Δ as positive)


R² Δ _____________  FΔ ________  df ___ , ________    p _________    Conclusion?

Using FZT (the convention is to report the R²Δ as positive)


R² Δ _____________  FΔ ________  df ___ , ________    p _________    Conclusion?
6. Compare the GRE model and the UGRAD model
                                   Correlation between models ________   p ______ N ______
Use the FZT program (remember to enter “R” not “R” values) and obtain :: 
 Steiger’s Z ___________                          Z-critical ___________        p _________     Conclusion ?
* be conservative – use the table entry with df < the actual df
  Write it all up – following the example in the handout!
